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Question Number : 1 Question Id : 70819120104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a typical combustion engine the workdone by a gas molecule is given by

W = HEBU KT, where x is the displacement, k is the Boltzmann constant and T is the
temperature. If a and P are constants, dimensions of a will be :
Options :

; 2
70819165461, LM LT 7]

g0 ]
70819165462. Lot

/ 1
70819165463. Sl

12 2
70819165464, LM LT 7]

Question Number : 1 Question Id : 70819120104 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



B
G T 7 BT TARA 1 R 1 PR AR, = o 2o KT, T x T, k I
9% (Boltzmann constant) =< T R | A o T B ‘jﬁ' $IT W, I TAZIT;

Options :

g 2
70819165461, LM LT 7]

70819165462, | MYLT]

/ 1
70819165463. L

g2 2
70819165464. [

Question Number : 2 Question Id : 70819120105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  Body ‘P’ having mass M moving with speed “u” has head-on collision
elastically with another body ‘Q)’ having mass ‘m’ initially at rest. If m <<
M, body ‘Q" will have a maximum speed equal to ‘2u’ after collision.

Reason R : During elastic collision, the momentum and kinetic energy are both
conserved.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819165465, Poth A and R are correct and R is the correct explanation of A.

70819165466. Both A and R are correct but R is NOT the correct explanation of A.

70819165467 A is correct but R is not correcl.

70819165468. A is not correct but R is correct.



Question Number : 2 Question Id : 70819120105 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TS N5 BT A GBI 94T A F WRHE F1E R FA AN 390 120E |
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Options :

E]TF e | T ETE T =
20819165465, A T R TG 61 SF R, A 705 I

% R FAG1E 761 2 e :
70819165466, > 1 75 R, A 9 wF I 9= |

70819165467, A7 e R

20819165468, A @1 &% R 7757|

Question Number : 3 Question Id : 70819120106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A planet revolving in elliptical orbit has :

a constant velocity of revolution.

has the least velocity when it is nearest to the sun.

its areal velocity is directly proportional to its velocity.

areal velocity is inversely proportional to its velocity.

mYN® >

to follow a trajectory such that the areal velocity is constant.
Choose the correct answer from the options given below :
Options:

70819165469, “* O™



70819165470, © only

70819165471, D only

70819165472, L only

Question Number : 3 Question Id : 70819120106 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TREPE TS e I AT G5 92T
A. Hf4@Tq 135 F9F |
B. H@ faben e T w@er fmew

09 TS 139 (areal velocity) T35 ARG |
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Options :

70819165469, e

T C
70819165470.

70819165471.

70819165472. Caill

Question Number : 4 Question Id : 70819120107 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the gravitational force of attraction between the ring and sphere as shown in the diagram,

where the plane of the ring is perpendicular to the line joining the centres. If \.@ R is the

distance between the centres of a ring (of mass ‘m’) and a sphere (mass "M’) where both have
equal radius 'R’

m M
R R
Xl R Y

Options :

70819165473, <

\,f_f{: GmM
70819165474, ° K
1 GMhm

2 3
70819165475, V8 R

Z \E GMm
3 R2
70819165476, - R

Question Number : 4 Question Id : 70819120107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e ST AL R T <51 A (ot TF) S 451 1 (‘MY B9) I 9 T T 77 ABR T,

o% Hae T7Yed TPTE WEE A ERIOR WS4 WEE I8 WaEd 341, 39 WE0d 96 TR

TFH(Aw TS 41 TAUE FIS T |

m M
R R
X | &R Y




Options :
B GmM
70819165473, = R°

\.f_f{: - GmM
70819165474, ° R
1 GMhm

1 B
70819165475, V8 R

242 GMm
3 R2
70819165476, - R

Question Number : 5 Question Id : 70819120108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical solid spheres each of mass ‘m” and radius “a’ are placed with their centres on
the four corners of a square of side ‘b". The moment of inertia of the system about one side of
square where the axis of rotation is parallel to the plane of the square is :

Options:

4

3 maZ + 2mb?
70819165477.

B

—maZ+ 2mb?
70819165478, °

8

g maZ= + mb®
70819165479.

)
—ma-
70819165480. 5



Question Number : 5 Question Id : 70819120108 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘a’ IPTNY TEF ‘m’ T SIEDT MIAY (33 TNEFS, PrRwq (3w [ b’ IEq 9T 359 B rare
I G4 9 (20R | TN 51 T (side) AT, T0 G O (9 O G, WA G
a2 ;

Options :

._1 /. )
g ma~+ 2mb-
70819165477.

—ma-+ 2mb?
70819165478, °

8 maZ + mb-
70819165479.

)
—ma-
70819165480. 5

Question Number : 6 Question Id : 70819120109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A large number of water drops, each of radius r, combine to have a drop of radius R. If the
surface tension is T and mechanical equivalent of heat is |, the rise in heat energy per unit
volume will be :

Options :
(1 1)
Iz R
70819165481.
oy O
70819165482, ) T R/

70819165483.



B .;-]-\.

r]

i

70819165484,

Question Number : 6 Question Id : 70819120109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

r JPTEE R FAF 1 GG G F14 951 ‘R’ AP oreret 978 740 (20w 02 oo T
7, W% TP[ A TANGT | 7, 4 «3F e Aa Ot #F P e 79

Options :
T 1 1 "|
Jix R/
70819165481.
3T(1 1)
70819165482, ) ¢ R/

- .%-]-\.

70819165483,

i
r]
70819165484.

Question Number : 7 Question Id : 70819120110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The normal density of a material is p and its bulk modulus of elasticity is K. The magnitude of
increase in density of material, when a pressure P is applied uniformly on all sides, will be :

Options :

70819165485.



K
X
70819165486, P!
.pE\'
70819165487, I
PK

70819165488. F

Question Number : 7 Question Id : 70819120110 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QBT #ed TTF p TF T Bowrerred wEeT 2F K | TG P el ENed biAs e o w4
77, T TG e T
Options :
o
70819165485,

70819165486.

70819165487, I

70819165488. F

Question Number : 8 Question Id : 70819120111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Assume that a tunnel is dug along a chord of the earth, at a perpendicular distance (R/2)
from the earth’s centre, where ‘R’ is the radius of the Earth. The wall of the tunnel is frictionless.
If a particle is released in this tunnel, it will execute a simple harmonic motion with a time
period :

Options :

70819165489, ©

70819165490.

.
70819165491.

Question Number : 8 Question Id : 70819120111 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4fq T, +fAq A @ (R/2) TS @S, 1 R 4REa and, 4@ v FC (chord) 3
firTe <ib1 % 41 (2R FAHIOR TrAeTgE weE | ArE €% AT ¢l 39 «fF il 29, % e
AT 5 T 33 T AT

Options :

70819165489, ©

2 [—

70819165490.

70819165491.



L
27 VR

g
27R
70819165492.

Question Number : 9 Question Id : 70819120112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The temperature § at the junction of two insulating sheets, having thermal resistances
R, and R, as well as top and bottom temperatures 6, and 6, (as shown in figure) is given by :

...... 0
Ry :
""" s L
R &
B,
Options:
.“1[{2 | l]le
70819165493, R1 TRz
04R; + 0,R»
70819165494, J1 TRz
Ry — 05R;
70819165495, Ry — R
8,R5 — ;R4
70819165496, 2 R

Question Number : 9 Question Id : 70819120112 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



f5ae 77q9a @0, R, TF R, ST AT T RS 0, UF T 0, TATTS 4@ R4 A
(insulating) #T® (sheets) T 7%Ee T@ 6 T+ 27 :

0,
Ry
R G
Options :
0;R5 + 0,Ry
70819165493, R1 t Rz
0;Ry + B,R»
70819165494, 1+t Ra
B8R — 05R4
70819165495. Py
8,R5 — 4R,
70819165496, 2~ Ri

Question Number : 10 Question Id : 70819120113 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A particle is moving with uniform speed along the circumference of a circle of radius
R under the action of a central fictitious force F which is inversely proportional to R, Its time
period of revolution will be given by :

Options:

b3 | e

TxR
70819165497.

4

3
70819165498, | * R

70819165499, T =R?



b |

TxR
70819165500.

Question Number : 10 Question Id : 70819120113 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R AT <1 J89 414, R T TGRATF 4T (57 FHi® 3 (central fictitious force) F 3 &
TS G5! FE13 A Bherd ofe 34 =g | 399 4REq sneE 27

Options :

3
TxR2
70819165497.

4

3
70819165498, | * R

70819165499, T =R?

b |

TaxR
70819165500.

Question Number : 11 Question Id : 70819120114 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two similar springs each of spring constant K | are joined in series, the new spring constant
and time period would be changed by a factor :

Options :

=

ha| =

70819165501.

70819165502, *



70819165503.

L
70819165504, *

Question Number : 11 Question Id : 70819120114 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fTerRd et g K, a3 vom Mzemy «re2 el o3 Tadiameia s 99 (20r| g Pl e
WF REFEAT FA T2 ;

Options :

1

37 V2
70819165501.

l 2«\5
70819165502, *

_Jl, 2.2
70819165503, 2

]

70819165504, *

Question Number : 12 Question Id : 70819120115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the electric field at point P (as shown in figure) on the perpendicular bisector of a
uniformly charged thin wire of length L carrying a charge Q. The distance of the point P

from the centre of the rod is a= T L.

"
€ a }E
o | - .
0 P
vl
Options :
Q
Jareall
70819165505, " =0
Q
—l’:TEﬂ L2
70819165506,
_\3Q
—l-ﬂTEn I_.E
70819165507.
0
= . 2
70819165508, V- Teo L

Question Number : 12 Question Id : 70819120115 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



‘L R O Q) TS GO JANEld WRE Ao O4e GAgerd R4 7 BeF vEE 9@l
e ‘P @ (f6are (rysd 420 CAgTes (e T T 3| O T A [T P R g,
NE)

a=—LI
2

Options :
Q
70819165505, = 7 0

Q

4 mED |_.2
70819165506.

30

—1-’:1'5:'{'} |_.2
70819165507.

0

~ . 2
70819165508, V- Teo L

Question Number : 13 Question Id : 70819120116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Consider the combination of 2 capacitors C . and C > with C 52 L " when connected in parallel,

the oqui\ralont capacitance is I times the equivalr_-nt capacitance of the same connected in

.C;‘_
series. Calculate the ratio of capacitors, a

Options :

708191655009.



15
70819165510, 11

15

70819165511, &

111

70819165512, U

Question Number : 13 Question Id : 70819120116 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1 41%% C, TF C, 3, C, > C,, <1 N (3R | (AT ARSI Ferae 41 W (e Fieq

ﬁ@ﬂ?ﬁi%ﬁﬁmﬁﬁﬁﬁﬁmmﬂ¢%m?m@m$ﬁﬁﬁﬂf@mﬁﬁﬁ|ﬁmﬁw
<

wPIE ¢, T

Options :
29
70819165509, 1°

15
70819165510. 11
70819165511.

11

70819165512, U



Question Number : 14 Question Id : 70819120117 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An alternating current is given by the equation i=1, sin wt+1, cos wt. The rms current will
be :

Options :

70819165513.

1 (i + in)?

= W 2
70819165514, V2

' 1

: “2 | :'2?

— (& + &P
70819165515, V2 :

1 1

= it + i3)?
70819165516, < '

Question Number : 14 Question Id : 70819120117 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
i =1, sin wt +1i, cos wt ATFELNE OF #Adqe 42T PR T H’f‘iﬁ (r.m.s.) #A2 29 ;

Options :
. |
= (ip + i2)
70819165513, V<

1 (i + ip)?
= \f 2
70819165514, V2

70819165515.



. rd.l .

-
i
=t o
&
[ o ]

ey

1 o
S| + i
70819165516, =

=3 |3

Question Number : 15 Question Id : 70819120118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Five equa[ resistances are connected in a network as shown in figuro. The net resistance
between the points A and Bis :

D
RE
R R
T
AN
E " o
Options :

2R
70819165517.

R
70819165518, 2
70819165519, &

3R

70819165520, =2

Question Number : 15 Question Id : 70819120118 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

@@ Tryear 4, 561 T (A14F @ F Tre T F41 (28| [ A W B T T NI @Y
59

Options :

9
7. L

R
2

R

7081916551

70819165518.

70819165519.

3R

70819165520, 2

Question Number : 16 Question Id : 70819120119 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A short straight object of height 100 cm lies before the central axis of a spherical mirror
whose focal length has absolute value |f| =40 cm. The image of object produced by the
mirror is of height 25 cm and has the same orientation of the object. One may conclude from
the information :

Options :

70819165521. Image is virtual, opposite side of concave mirror.

70819165522, Image is real, same side of concave mirror.



70819165523 ltnage is virtual, opposite side of convex mirror.

70819165524. Image is real, same side of convex mirror.

Question Number : 16 Question Id : 70819120119 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Q4T THTAR AT, T4 1S O7eR 4 T || =40 cm, TFET TH L 100 om THOR ¢
fogey SR FERE 94T C20Z | WICATT 3 0SSR ST 25 cm W 3 AR (TS 33
I TEFWE (orientation) TTE| T#TATE TR AT AAT 49 @1 T :

Options :

70819165521, THET S, TS ALAT FeAE T
2081916552, ORI IR, TS MCAR GTF2 firers |
20819165523, HOTHD! TR, TG ML RS Fere
70819165524, ERTB! He, TGt MICNR GrF e |

Question Number : 17 Question Id : 70819120120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment two slits are separated by 2 mm and the screen is placed
one meter away. When a light of wavelength 500 nm is used, the fringe separation will be :

Options :

70819165525, | mm

70819165526. 0.75 mm



70819165527, 0.50 mm

70819165528, U-22 mm

Question Number : 17 Question Id : 70819120120 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
2 fa-fe “AWIE, 2 mm 97 1 o 91 (20w A A T M 1 m GAGS FeW A1 (X
TAEA1 500 nm TAAFEE &F (124 TJa29 F41 23, 54 F1F (fringe separation) 29 :
Options :

70819165525, | mm

70819165526, U720 mm

70819165527, 0.50 mm

70819165528, U-22 mm

Question Number : 18 Question Id : 70819120121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A :  An electron microscope can achieve better resolving power than an optical
MIiCroscope.

Reason R : The de Broglie's wavelength of the electrons emitted from an electron gun
is much less than wavelength of visible light.

In the light of the above statements, choose the correct answer from the options given below :

Options :

70819165529. Both A and R are true and R is the correct expla_natinn of A.



70819165530. Both A and R are true but R is NOT the correct r:-xplanation of A.

70819165531. A is true but R is false.

70819165532, A is false but R is true.

Question Number : 18 Question Id : 70819120121 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

TAG 75 O T W% | 5T 789 A TE WRHF F1E R 0o A FA1TE
IGTA: < TFTG 128 F T &5 AR (optical) TEH F ST [AR [T H 47 404 |

FRAR: G5 ZEFR F9F (electron gun) T 41 F5E SAF [ W-J79 SALAILRET, T (visible)
TAT59q TRLATTATelE 9@ 99 |

CoaE UeT e, e 49 o WE 5Ed 53 34
Options :

A TF R THE A6 WF R, A T W% T
70819165529. X

A O R[S 76 fFE R, AT @5 QA 724
70819165530, -

70819165531. A1 RRe R g1

70819165532, A R R 1

Question Number : 19 Question Id : 70819120122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If A; and A are the wavelengths of the third member of Lyman and first member of the
Paschen series respectively, then the value of Atk is:

Options :



70819165533, / : 108

70819165534, * -

70819165535, 1+ 3

70819165536, 1 - °

Question Number : 19 Question Id : 70819120122 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

iz ECw T GO T O AT AT 2 o 9 G\ TE N, T, TEBA, : A,
ITT39;

Options:

70819165533, 7 : 108

70819165534, * °

70819165535, 1+ 3

70819165536, - °

Question Number : 20 Question Id : 70819120123 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

LED is constructed from Ga-As-P semiconducting material. The energy gap of this LED is
1.9 eV. Calculate the wavelength of light emitted and its colour.

[h=6.63%10"%Js and c=3x 108 ms~ 1|

Options :



70819165537. 654 nm and red colour
70819165538. 6564 nm and orange colour

70819165539. 1046 nm and blue colour

70819165540. 1046 nm and red colour

Question Number : 20 Question Id : 70819120123 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ga-As-P Sifa12 *M(a 1712q W1 TR’ (LED) I0@ | €2 LED TR &%+ wwaa
(energy gap) 1.9 eV | 53 =@ fopf ereqq wqesite w48 v
[h=663%10"3]s & c=3x10° ms ]

Options :

654 nm TEE 2T 29|
70819165537.

15 2 ) S Y e R = )
70819165538, 20+ "M e

46 nm STF T8 789
70819165540, 1046 nm St
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Question Number : 21 Question Id : 70819120124 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

As shown in the figure, a block of mass /3 kg is kept on a horizontal rough surface of

coefficient of friction ﬁ The critical force to be apphed on the vertical surface as shown

at an angle 60° with horizontal such that it does not move, will be 3x. The value of x will be

W

[g=10 m/s; sin 60°= ,coshﬂ":E]

E
a2
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Question Number : 21 Question Id : 70819120124 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



qa‘qgrrsai%amﬁmqwﬁmaﬁ”ﬁ kg 599 7% 5 TS 4@T 741 (X

IO Targ T, WS WA TS 60° TS, e ST 40, AT FIOTA FHA T,
@i &g 7@ (Critical force) F 3 499 x| x3 T2 |

[am—

ﬁ
[g=10 m/s? ; sin 60°= 1’;—";c05 60°= ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819120125 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

{ \

20i+10]

—

A boy pushr_-s a box of mass 2 kg with a force F = N on a frictionless surface.

4

[f the box was initially at rest, then _
10 s.

_ mis displacement along the x-axis after

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 22 Question Id : 70819120125 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
'_} w3 —
Q3 T2 ToT, €T 7 2 2 kg O A9 €61 F =[2m‘ H10] ‘N T 4T I T SR
A 4

Iz IFHCHT ARRFOIE Fq WEFTe Wiiera, 1org 10 s T ATES y-5%q fe1e qAIFBIH[ HI9

7'q m|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 23 Question Id : 70819120126 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A person standing on a spring balance inside a stationary lift measures 60 kg. The weight of
that person if the lift descends with uniform downward acceleration of 1.8 m/ 52 will be

____________ N. [g=10 mfsz]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819120126 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a1 5 g (lift) Fowaa @4e et @A 4 (2 @ o 2d ©4 60 kg T (AT AT BRgHA
8§90 1.8 m/s2 1@ GACA 1 OZ (908 TReR 9523 Ni[g=10m/s’]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120127 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The mass per unit length of a uniform wire is 0.135 g/cm. A transverse wave of the form
y=—0.21 sin (x+30t) is produced in it, where x is in meter and t is in second. Then, the
expected value of tension in the wire is x X 10 2N.Valueofxis . (Round-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819120127 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

QU W ©99 46 @FF (R 29 AW 0.135 g/ cm| y=—0.21 sin (x +30t) T 44 BT TepEE
TA25 TS Teog F91 (208, TS x meter §FFS T t second GFFS TNE| SIAUETS [FA F4T G
A@RS T xx 102N | x 3T | (Freben iwenta oo F9)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819120128 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A container is divided into two chambers by a partition. The volume of first chamber is
4.5 litre and second chamber is 5.5 litre. The first chamber contain 3.0 moles of gas at pressure
2.0 atm and second chamber contain 4.0 moles of gas at pressure 3.0 atm. After the partition
is removed and the mixture attains equilibrium, then, the common equilibrium pressure
existing in the mixture is xx 10~ ! atm. Value of x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819120128 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

47 1T @4 RTEFe FImS [T (FIES O 9 (30% | 2RI TR e 45 litre W GO
6T SIS 5.5 litre | #21% (FFACGM® 3.0 '3 797 2.0 atm SA@ T WF How (SRS
4.0 T'F 7518 3.0 atm B1# OE| RemF Sedq1z fid ATee 9% fEerhd TRg (EH TS,
e T M ax 10 tatm| x AW I

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 26 Question Id : 70819120129 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A radiation is emitted by 1000 W bulb and it generates an electric field and magnetic field at
P, placed at a distance of 2 m. The efficiency of the bulb is 1.25%. The value of peak electric
fieldat Pis xx10"1V/m. Value of xis . (Rounded-off to the nearest integer)

[Take €,=8.85x10 RCIN"Tm % ¢=3x10°ms™ ]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 26 Question Id : 70819120129 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

@51 1000 W 3 39 =@ fafeae foefte 2 o1& % 2 m 7a9® @bl o P © fe v e 05115 e
AR FECE| TEGR FEe 1.25% | P e fape the M W T3 xx 107 V/m| x T I LI
1 (Fraben epfeama e )

[fra W @ ,=885%10"12 C2N"1 m~2, c=3x10° ms~]

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120130 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



In an electrical circuit, a battery is connected to pass 20 C of charge through it in a certain
given time. The potential difference between two plates of the battery is maintained at 15 V.
The workdone by the batteryis ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819120130 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

451 Ao Téare, «F g TS 20 C WY A9 [RIALE <51 TBA AT I 2% | [@AE 13
ATeq W5 15 V Todien 991 (T8 @RWE T Fedzd ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 28 Question Id : 70819120131 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The circuit contains two diodes each with a forward resistance of 50 () and with infinite
reverse resistance. If the battery voltage is 6 V, the current through the 120 () resistance is

____________ mA.
Dy 1300
> AN
I)Eﬂ 100 £}
N W
| 120 €}
L AN
6V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819120131 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TEATHTS ATENFE 50 ) T (forward) (TR WE WA *#5ael (Reverse) LI 75!
T’ Wil Az AT w7 6 V 28, 120 O w1 qE 4 [yeg w9 ¥H

_ mAl
D 100
L Wy
[F 100 )
|ﬂ Py
| 1200
|I AMA
6V

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819120132 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The maximum and minimum amplitude of an amplitude modulated wave is 16 V and 8 V
respectively. The modulation index for this amplitude modulated wave is x X 102 The value
ofxis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819120132 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4T 95 FeTe Ta2sE A O e GFE T 16 VIFES V| «3 559 e T499[ 10T T
PFETAxW02 1 xTIW__ |

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 30 Question Id : 70819120133 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a series LCR resonant circuit, the quality factor is measured as 100. If the inductance is
increased by two fold and resistance is decreased by two fold, then the quality factor after
this change will be _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819120133 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

QBT T4@% LCR S 419 0T 2% W 710 (a0 1001 3% S 949 1B o O
NS 53 I F41 T, TO0% O3 AqE AES A ST AM T |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
Section Id : 708191882
Section Number : 3

Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911162
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819120134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The orbital having two radial as well as two angular nodes is :

Options :

3p
70819165551,

70819165552, 4d

70819165553, 4!

70819165554, °d

Question Number : 31 Question Id : 70819120134 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o APT& =T S 51 (R ' T 4 SR 2 ;

Options :

3p
70819165551.



70819165552, 4d

70819165553, 4!

70819165554, >d

Question Number : 32 Question Id : 70819120135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : Dipole-dipole interactions are the only non-covalent interactions, resulting in
hydrogen bond formation.

Reason R : Fluorine is the most electronegative element and hydrogen bonds in HF are
symmetrical.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :
70819165555, Both A and R are true and R is the correct explanation of A

70819165556. Both A and R are true but R is NOT the correct expla_natmn of A

70819165557, ‘15 true but R is false

70819165558. A is false but R is true

Question Number : 32 Question Id : 70819120135 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



TS 1 &7 a1 R ; <1 ST A S SIS FiE R A T 340 G2
=

FRIR : w4 S5RelE (3 [Aye 499F @ 9% HF © 497 T3505 TE NS
(Pt

TG TG WS, PTG oA W 5Eq B 4|

Options :

20819165555, A T R TG AT W€ R T A T 95 AR

20819165556, A TTF R TCAGT 707 7 R, A T 8% 40 724

70819165557, A T 8 R 19|

70819165558, A TT9T @ R @7

Question Number : 33 Question Id : 70819120136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List-1 with List-11.

List-1 List-11

Electronic configuration AH in k] mol ~1

of elements
(a) 1s22s2 (i) 801
(b) 1s22s?2p? (i) 899
(c) 1s22s22p? (iii) 1314
(d) 1s22s22p! (iv) 1402
Choose the most appropriate answer from the options given below :
Options:
20819165559, (@) = (), (B) = (iv), (0) — (ii), (d) — (ii)

20819165560, (@ — (iv), (b) = (i), (c) — (i), (d) — (iii)

70819165561 . (@) — (i), (b) — (iii), (c) — (iv), (d) — (i)



70819165562, (a) — (1), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 33 Question Id : 70819120136 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Siferal-1 S Siferasr-11 fF= & ¢
wiferet-1 wiferest-11
(GlTeTa LeTg 1 7esT) (A,H, k] mol~1 @&%s)
(a) 1s22s2 (i) 801
(b) 1s22s22p? (i) 899
(0 1s22s22p3 (i) 1314
(d) 1s%2s22pl (iv) 1402

we W Ao o wE Tag 5Ee 54
Options :

708191655509. (@) = (1), (b) — (iv), (c) — (ii1), (d) — (i)

70819165560, (@) — (iv), (b) — (i), (€) — (i), (d) — (iii)

20819165561, (@ — (i), (b) — (iid), (c) — (iv), (d) — (i)

70819165562, (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List-1 with List-I1L

List-1 List-11

(Ore) (Element Present)
(a) Kernite (i) Tin
(b) Cassiterite (ii) Boron
(c) Calamine (iii) Fluorine

(d) Cryolite (iv) Zinc
Choose the most appropriate answer from the options given below :

Options :
70819165563, (3) = (i), (b) = (1), () — (iv), (d) — (i)

70819165564, (@) — (i), (b) — (i), (¢) — (ii), (d) — (iv)

20819165565, (@ — (i), (b) = (iv), (c) — (i), (d) — (iii)

70819165566. (a) — (i), (b) — (iii), (c) — (iv), (d) — (ii)

Question Number : 34 Question Id : 70819120137 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

wifera1-1 7 e siferar-11 7 & 74 ¢
wiferst-1 wifere-11
(wrfas) (TifEre wer)

(a) TG i B

(b) TGS () TTA

(c) TCEEAT (iii) FFra

(d) 2L (iv) f&es

e Wl e @ waE A v ##4 ;

Options :

70819165563, (@ — (i), (b) = (i), () = (iv), (d) — (iii)

70819165564, (@ — (iii), (b) — (i), (¢) — (ii), (d) — (iv)



20819165565, (@ — (i), (b) = (iv), (c) — (i), (d) — (iii)

20819165566, (@ — (1), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 35 Question Id : 70819120138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Statements about heavy water are given below.

A. Heavy water is used in exchange reactions for the study of reaction mechanisms.
B.  Heavy water is prepared by exhaustive electrolysis of water.

C.  Heavy water has higher boiling point than ordinary water.

D.  Viscosity of H,O is greater than D,0.

Choose the most appropriate answer from the options given below :

Options :

70819165567, 4+ and B only

70819165568, ‘* and C only

70819165569, “+ and D only

20819165570, ‘» Band Conly

Question Number : 35 Question Id : 70819120138 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ST A9 Ty fgae tfe ware fra 2'H)

Sig@ #Na AT Fa o [ dfEare G Ry same Fae )
YT+ 2w FAT 27 M e Ay [ a

SIEq #1lq ToAIF HHE AR eLS (A% |

H,O T 77l D,0 o= @&

T v e o[ wE vEe iy Serear

onwy



Options :

70819165567, ‘4 =¥ BT
70819165568, A =¥ C T4

70819165569, * =¥ D o1d

70819165570, ‘& B I C TE

Question Number : 36 Question Id : 70819120139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Find A, B and C in the following reactions :
NH,+ A +CO, — (NH,),CO,

(NH,),CO, + H,0+B — NH,HCO,
NH,HCO,; + NaCl — NH,Cl1 +C

Options:

70819165571, A~ H20 ; B~0;; C—NayCO;

70819165572, ‘1120 7 B~ 0, ; C~NaHCO,

70819165573.

70819165574, = . .

Question Number : 36 Question Id : 70819120139 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



were T i «[@ A, B o C q1f% BhEedr :
NH;+ A +CO, — (NH,),CO;

(NH,),CO, + H,0 + B — NH,HCO,
NH,HCO, + NaCl — NH,Cl +C

Options:

20819165571, H20 ; B~ 0Oy €~ Nay(O;

70819165572, ‘1120 7 B~ 0, ; C~NaHCO,

70819165573.

70819165574, = . .

Question Number : 37 Question Id : 70819120140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound A used as a strong oxidizing agent is amphoteric in nature. It is the part of lead
storage batteries. Compound A is :

Options :

70819165575, 'bO

70819165576, | 0O2

70819165577, L P3C4

PbSO,
70819165578,

Question Number : 37 Question Id : 70819120140 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

0 A F T939 T4 20 AfEa Tad T 2357, I9 oF Towd | G300 1A 8 @A o
AT :

Options:
70819165575, PO

70819165576, | PO2

70819165577, 1 P304

PbSO,
70819165578,

Question Number : 38 Question Id : 70819120141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following lanthanoids does not form MOZ ?
[M is lanthanoid metal]

Options:

70819165579, Nd

70819165580 Y

70819165581, LT

70819165582, Yb

Question Number : 38 Question Id : 70819120141 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o TP TR MO, 5157 7/6Cq ?
[M 3 (FEAE qrg]
Options :
70819165579, Nd

70819165580, LY

70819165581, LT

70819165582, Yb

Question Number : 39 Question Id : 70819120142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The presence of ozone in troposphere :
Options :

70819165583 protects us from the UV radiation

70819165584 protects us from the X-ray radiation

generates photochemical smog
70819165585.

protects us from grommnuse effect
70819165586.

Question Number : 39 Question Id : 70819120142 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
B o e 4F WG THEhe

Options :



- ™7 =3
70819165583, ARE W FISEIN. ST el S

70819165584, TN AG A TR @1 T A

20819165585, NCTE IPTRAF Ydat TRom I

TARF TGS 52 HOEE 0 T Fq
70819165586.

Question Number : 40 Question Id : 70819120143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1: A mixture of chloroform and aniline can be separated bﬂ, simplc- distillation.

Statement 11 :  When separating aniline from a mixture of aniline and water by steam
distillation aniline boils below its boiling point.

In the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819165587, Both Statement I and Statement 11 are true

70819165588 Both Statement I and Statement 11 are false

708191655809. Statement 1 is true but Statement 11 is false

70819165590. Statement 1 is false but Statement 1l is true

Question Number : 40 Question Id : 70819120143 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



el e OF e T O A AT w4 SjeE F4E A1)

Sell: e ofiEme o e aa dofefem O Aad Y @GR 9UF F4 3, dfeE
317 Toenieq Ao CetE|

CHATE T@d Tqae, ©F TE0] O A a1 e 4

Options :

20819165587, 1@ 1T & 11 7ras 7%

20819165588, U1 | T Bf& LI qTA15! S7ey

70819165580, & 1779 8 ¥f& 11 wprer

20819165500, &€ 1 %P1 ¥ &f& 11 1oy

Question Number : 41 Question Id : 70819120144 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following is ‘a” FALSE statement ?

Options :

70819165591 Carius tube is used in the estimation of sulphur in an organic compound.

70819165592, Carius method is used for the estimation of nitrogen in an organic cnmpnund.

20819165593 Kjeldahl’s method is used for the estimation of nitrogen in an organic compound.

P]msphnric acid prnduced on oxidation of p]msphoms present in an organic compf}und

20819165594, is precipitated as MgEPEDF by adding magnesia mixture.

Question Number : 41 Question Id : 70819120144 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
OH ThEq (G OTeT 7

Options :

70819165591, ‘01 0O TSI Qorerad AT T LA (AT (Carius) T J924 4T =

70819165592 BT 05E TA9® a3y TEd AR e ST (AT AETe 929 41 4|

70819165593, ‘0! CF4 TRIT 2G'TowA #AR1T Te1 FIILaA THTC o1 “fs I 341 27 |

A5 (54 (91T AT FEFATE GRS TEFET AR S 7F, [T e fEg A,

20819165504, MB2P20; O Seefe =

Question Number : 42 Question Id : 70819120145 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
For the given reaction :
CH = CHBr 1. NaNH,
| . e (A)
CH, 2. Red hot iron tube, 873 K (major product)

What is ‘A" ?
Options :
(|2H= CH—-NH,

-

CH,
70819165595,

CH,CH,CH,NH,
70819165596. PR 45 R ) 1N B sd

70819165597. :



H,C CH,

CH,
70819165598. ‘

Question Number : 42 Question Id : 70819120145 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

owa afEeE 9
CH=—=CHbBr 1. NaNH,
= (A)
‘A fE 9
Options :

70819165595.

70819165596, - 2

70819165597. :

H,C CH;,

CH,
70819165598, :

Question Number : 43 Question Id : 70819120146 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

For the given reaction :

CH,CHj,

- 7 Bl’z
e 3 .-’JJ.\:
UVlight  (hajor product)
monobrominated
CN
What is “A’?
Options :
H,C Hq
70819165599.
CH,CH;
70819165600.
Br {.I'lj
\Cl I/
% "CIN
70819165601.
CH,CHj;
70819165602.

Question Number : 43 Question Id : 70819120146 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g [fEeE aa
CH,CH
'3 Brz X
~ Fs
v R (33 wTe)
DIE MM
CN
‘NTF?
Options :
H,C Hq
70819165599.
CH,CH,
70819165600.
\Cl 1/
f "CN
70819165601.
CH>CHy

goul

Question Number : 44 Question Id : 70819120147 Question Type : MCQ Option Shuffling : Yes

70819165602.



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A Hydrolysis B

(C4HCl,) PR (cH0)

B reacts with Hydroxyl amine but does not give Tollen’s test. Identify A and B.

Options :
70819165603. 1,1-Dichlorobutane and Butanal

70819165604. 2 2-Dichlorobutane and Butanal
70819165605. 1,1-Dichlorobutane and 2-Butanone

2 2_-Di ; i
70819165606. 2 2-Dichlorobutane and Butan-2-one

Question Number : 44 Question Id : 70819120147 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A GH T B

CHClz) TP {CHgO)
B @ 735 315 aNied were e w0q T brem A @rw i) A 9% B fore #4)

Options:
70819165603, 1 1-OZ@CATACIEA WF MEHTA=

20819165604, 2 2-UIRANANIEL = REHT=
-BIEEAAS T e -5
70819165605, 1~ | o 2S5

70819165606. 2 2 wF fASrBa-2-"



Question Number : 45 Question Id : 70819120148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Identif}-’ the major pmducts Aand B rr_-spectivel}-' in the fnllnwing reactions of phenol ’

OH
_‘(ij CHCl,, NaOH Br, in CS, @
-
(i) HO* 273K
Options :
OH OH
Br CHO
and
70819165607.
QOH OH
@ and @
70819165608, BT CHO
OH OH
Br
and
708191656009. 232

OH OH
CHO
and
. Br

70819165610



Question Number : 45 Question Id : 70819120148 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
e o oe ATETS T47 TTowd) IUEE A 9 B e F41

OH
(ii) H3O™ 273 K
Options :
OH OH
Br CHO
F
70819165607.
OH OH
|: : |sr$ |:::|
70819165608.  bf CHO
OH OH
Br
F
CHO
708191656009.
OH OH
CHO
F
Br

70819165610.



Question Number : 46 Question Id : 70819120149 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : G-Nitropheml is steam volatile due to intramolecular h}-’dmgen bonding.
Statement 11 : G-Nitropheml has high me[ting due to h}-‘drogen bonding,.

[n the light of the above statements, choose the most appropriate answer from the options
given below :

Options :

70819165611. Both Statement I and Statement 11 are true

70819165612. Both Statement I and Statement 1l are false

70819165613, Statement 1 is true but Statement 1l is false

70819165614, Statement 1 is false but Statement 11 is true

Question Number : 46 Question Id : 70819120149 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

€& 1:  wmEe@@ (intramolecular) 2195 5 A1 AT o-13 o1 A4 TEAI |
& 1l: 25Y (5 dERe[d AT o-A12) (e OB SAAE g

Torare Tfeq wewe, wE TEds B 49

Options :
20819165611, E1® 1 T & 11 05T ey
70819165612. & 1 ore e 11 qeamT s

20819165613, B1% 1779 &2 &f& 11 wprey



70819165614, o1& 19971 5 ¥ 115721

Question Number : 47 Question Id : 70819120150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An amine on reaction with benzenesulphonyl chloride produces a compound insoluble in
alkaline solution. This amine can be prepared by ammonolysis of ethyl chloride. The correct
structure of amine is :

Options :

CH,CH,CH,NHCH,4
70819165615. pllend e ;

H
CH.CH,CH-N — CH,CH
70819165616. e 2~173

NH —CH,CH,CHj
70819165617, :

CH,CH,NH,
70819165618, - = Z

Question Number : 47 Question Id : 70819120150 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

4] G AR & AT A6 TS ¢ AR WA SRy e Beofm 74| BE
F T AT TN €2 ST 2T I N TN SR 9 0 T

Options :
CH,CH,CH,NHCH,

70819165615.

H
70819165616, 3T 2CHN = CHCH;



NH —CH,CH,CHj
70819165617. :

70819165618. 3

Question Number : 48 Question Id : 70819120151 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The structure of Neoprene is :

Options :
+CH2CH:CH—CH2—CH2 CH ]n
70819165619. CN
rL|“1
[ CH, C—(TH—LTH2+H
70819165620.
% HN - Nx ;NHCHE %_
Y )
N.__=N
NH
70819165621. |
]
[ CH,——CH—-
70819165622. —

Question Number : 48 Question Id : 70819120151 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

feTefeeTg 5157 3°4 -

Options :

«{»CI—IECH:CI—I—CHQ—CHE CH ]n
70819165619. CN
fl

70819165620.
—HN___N___NHCH,]-
“/ \( n
N-_ KN
NH
70819165621 |
]
[ CH,——CH—1-
70819165622. .

Question Number : 49 Question Id : 70819120152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following vitamin is helpful in delaying the blood clotting ?
Options :
70819165623, Vitamin B

T4 s -
70819165624, Yitamin C



Tal - 4 .
70819165625, " iamin E

Tt . -
70819165626, Y itamin K

Question Number : 49 Question Id : 70819120152 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T [FEC6! [ShI TO%d Th3d 491 “IAd 1S A2 ?

Options :

70819165623, 201+ B

70819165624, @ora= C

70819165625, SO E

70819165626, 0T K

Question Number : 50 Question Id : 70819120153 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On treating a compound with warm dil. HZSO__I, gas X is evolved which turns KgCrED?
paper acidified with dil. H,50; to a green compound Y. X and Y respectively are :

Options :

X=50., Y=Cr.(SO
70819165627. 3 2(04)3

70819165628, 202 Y =Cr0;

70819165629. y g



K . SD"),.- Y i {:r":{S‘D_-ljlq
70819165630. E z :

Question Number : 50 Question Id : 70819120153 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

W &g H,S0, T @9 @bl (T8 e sficer @b oo X Teotn @, A wege @ H.50, 1 7%
e 3R K, Cr,0, 3 F1978@ 7681 (o1 Y Beoty 41 X W Y IAGH 2 :

Options :
X=50,, Y=Cr, (S0,
70819165627. = 24504)s
70819165628, o2 ¥ = C10;
X=50;, Y=Cr,04
70819165629. - s
X=50,, Y=Cr,(S0,);
70819165630. E " :
Chemistry Section B
Section Id : 708191883
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20

Mark As Answered Required? : Yes



Sub-Section Number : 1
Sub-Section Id : 7081911163

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819120154 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of significant figures in 50000.020 <103 is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 51 Question Id : 70819120154 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

50000.020 x 10 ~3 © 2T ST TeFq FLAN T'A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120155 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



b)=RT. The value of —| is £ The value of xis __

A certain gas obeys P(V
L ) P AT

m

(Integer answer) (Z : compressibility factor)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819120155 Question Type : SA
Correct Marks : 4 Wrong Marks :0

aty 78 TomE P(V b

b) =RT 4 5| ]—\ AT | xITITA_____ | (T
oP ) RT

m
A FATS) (Z : TP SN
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120156 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

For a chemical reaction A+ B =C+D

(A, H=80 k] mol~!) the entropy change A S® depends on the temperature T(in K) as
A S9=2T (] K~ 'mol 1),

Minimum temperature at which it will become spontaneousis K. (Integer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819120156 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

41 et i@ A + B = C + DT a0A(A, HO=80 k] mol 1), «§’# “ffqea A S, Taew
T(K) 3 9@ fo7eq 309, 39 AS°=2T (] K~ 'mol )

e Taeel, T'e Rigwy Forye 29,99
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819120157 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

224 mL of 802{ ) at 298 Kand 1 atm is passed through 100 mL of 0.1 M NaOH solution. The
non-volatile aofute produced is dissolved in 36 g of water. The lowering of vapour pressure

of solution (assuming the solution is dilute) (Py.0)=24 mm of Hg | is xx 102 mm of Hg,
g - (H0) ) &

the value of xis (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 54 Question Id : 70819120157 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

208 Ko< 1 atmESDz(g} 7224 mL 100 mL 0.1 M NaOH 9 WIt&f 49 2°9 frnr 2711 Tesf o
wA AT 36 g AT WAYT FA TA| QG ACABIR I (wArh1 g I 4fa)
. 1 (5w ot Aee)

[ o

{ O ’30}:24 mm HE‘,] T yx1072 mmHg, x 39 25 ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819120158 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

T

s ik . i T e
at 27°C. The initial amount of AB, was 1 mole and the equilibrium pressure was 1.9 atm.
The value of KI‘ isxx10~2 The value of xis (Integer answer)

[R=0.08206 dmPatm K~ 1 mol~1]

A homogeneous ideal gaseous reaction AB, ) = A, +2B . iscarried out in a 25 litre flask

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 55 Question Id : 70819120158 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

51 T W TR (AT AB, ) = Ay + 2B, BT 25 ol #1F T27°C T W I J| AB,
3 e et et 1 mol S A 514 AT 1.9 atm | K, T T ZAxx 10721 23 T T
(o= g Aeme)

[R=0.08206 dm’atm K~ mol ]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120159 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the foﬂowing_ reaction
MnOy +8H™* +5¢e~— Mn"* 2 -lI-IEO, =131 V.

The quantity of electricity required in Faraday to reduce five moles of MnQy is
(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819120159 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



fares fae T2 ;
MnOjy +8H* +5e~— Mn*2+4H,0, F°=151 V.

A5 (5) ¥'F MnO, R F[ala 4@rs (381 Ryed ((FA0S ©) A[aH 2'd
Ao H2TS)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819120160 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

An exothermic reaction X — Y has an activation energy 30 k] mol L energy change
AE during the reaction is — 20 kJ, then the activation energy for the reverse reaction in kJ is
. (Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819120160 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

451 RS RfET X = Y T e #fE 27 30 k] /T'A| 7 GTEmHE *fE 4@ AETA - 20k],
o G AR AE fF kT T | (T s Weus)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120161 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3.12 g of oxygen is adsorbed on 1.2 g of plafinum metal. The volume of oxygen adsorbed per
gram of the adsorbent at 1 atm and 300K inLis

[R=0.0821 L atm K~ ! mol ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819120161 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

12g74 b 419 3,12 g TIHE imEE F41 7@ 300 K 9 1 atm © 4f% &0 SRpEes,
SRS T2 e e L 439e 7 | [R=0.0821 L atm K~! mol ]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 59 Question Id : 70819120162 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Dichromate ion is treated with base, the oxidation number of Cr in the product formed is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819120162 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
TR SRS T4q o e shaa o 7'A, fmme e Craga weanza

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819120163 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Number of bridging CO ligands in [an{CD] 1{1] is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819120163 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

[Mn,(CO),,] © T7ga% (bridging) CO fsnaa 7eam 2=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A

Section Id :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

708191884
5

Online
Mandatory
20

20

80

Yes

1
7081911164

Yes



Question Number : 61 Question Id : 70819120164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
It : and E are perpendicular, then a + * a » * ax b JH is equal to :

Options :

S

70819165641.

e d

4
‘a b

N |-

70819165642,

e
70819165643.|a‘ o

— =

70819165644, @ < b

Question Number : 61 Question Id : 70819120164 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2 2 AF [ T W, CF a x la x lax \ax bl mmea:
Options:
70819165641, U

| s —}4 —

i‘a‘ b

70819165642, =

:
70819165643.|a‘ b



— =

70819165644, @ * b

Question Number : 62 Question Id : 70819120165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If (1,5, 35), (7, 5,5), (1, A, 7) and (2A, 1, 2) are coplanar, then the sum of all possible values
of Ais:

Options:

70819165645, °

70819165646,

70819165647.

70819165648.

Question Number : 62 Question Id : 70819120165 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3 (1,5, 35), (7,5,5), (1, \, 7) TF (2, 1, 2) Ra20! armeay ¥, (93 A T TR(ATAR TEE
T4 e 29 :
Options:
39
70819165645, °

39

70819165646,



ﬂ
70819165647. 2

44

70819165648, °

Question Number : 63 Question Id : 70819120166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The intersection of three lines x—y=0, x+2y=3and 2Zx+y=6is a :
Options :

70819165649, Kight angled triangle

70819165650, 1s0sceles triangle

70819165651, Equilateral triangle

70819165652, None of the above

Question Number : 63 Question Id : 70819120166 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
x—y=0, x+2y=3 % 2x +y=6 (I fSTCER (=FIH @51 :

Options :
70819165649, LT T farge
AT fagE

70819165650.



70819165651, A% I2S

70819165652, 1 abis T

Question Number : 64 Question Id : 70819120167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(a+1)fa+2) a+2 1
The value of |[a+ 2)(a+3) a+3 1|is:
(a+3)a+4) a+4 1

Options :

20819165653, (@ FD(@+2)(a+3)

70819165654, (@1 2)(@+3)(a+4)

70819165655, — 2

70819165656, U

Question Number : 64 Question Id : 70819120167 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@+ 1)@+2) a+2 1
(@a+2)(a+3) a+3 1|IINET;
(@a+3)at+4) a+4d 1

Options :

70819165653, @t D@ +2)(@+3)

20819165654, (@ T 2)(a+3)(a+4)



70819165655, — 2

70819165656. U

Question Number : 65 Question Id : 70819120168 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate of growth of bacteria in a culture is proportional to the number of bacteria present
and the bacteria count is 1000 at initial time t=0. The number of bacteria is increased by

7
.
20% in 2 hours. If the population of bacteria is 2000 after B hours, then [ is
[OBE lg}) L, ]'OBH 2 /
equal to :
Options :

70819165657, 2

e

70819165658.

oo

70819165659.

70819165660, 16

Question Number : 65 Question Id : 70819120168 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

51 YT 9F @AFRATAIE Jad T4 OTC 9] (AFAAT TR 7918 TAANS TF 212
T =0 @3 AT elferF T 1000 74T 77| 2 9008 @I T WA 20% A% 77 | A

k
loge(2)

I \?.
| e e k
ﬂ%ﬁ‘mmmqmwmﬂwzmnmmﬁlmg—j\ TMZ
\ L=

Options :



70819165657, 2
70819165658, 4
70819165659, 8

70819165660. 16

Question Number : 66 Question Id : 70819120169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circle given below, let OA =1 unit, OB=13 unit and PQ L OB. Then, the area of the
triangle PQB (in square units) is :

NS
C}\\\;;ii:::;73 ¥

Q
Options :

24 ﬁ

I

70819165661,
70819165662, 2433

70819165663, 2682

k-
5]

70819165664, 26V

Question Number : 66 Question Id : 70819120169 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

S SIEY 39 JABS, @177 OA = 1939, OB=13 €3¢ 9=F PQ LOB | (903 PQB fagsm
1 (T FF9) 77 ;

-“- L

s

O\\\;;iii:;73

Q
Options :

70819165661, 242
70819165662, 2433

70819165663, 26v2

[t
2‘\.
3]

70819165664.

Question Number : 67 Question Id : 70819120170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Jfﬁﬁin[:{—": +h) — cos(Z A h}li

The value of lim 2 T
h—0 | J3h(y3cosh — sinh) ]
Options :
"
70819165665, -
4
70819165666. -

70819165667.



.

V3

3
70819165668, 4

Question Number : 67 Question Id : 70819120170 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
(V3sin(T +h) — cos(T + h)]

lim 24 -+ AT ZT :

h—0 | J3h(/3cosh — sinh) ]

Options :

W N

70819165665.

70819165666.

2

70819165667, V2

"
70819165668, 4

Question Number : 68 Question Id : 70819120171 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4

The maximum slope of the curve y = —x* — 5x% + 18x% — 19x occurs at the point :

B3| =

Options :

70819165669. (0. 0)



)
70819165670, (& 2)

F &
3, o}
70819165671. =

70819165672, (2 9)

Question Number : 68 Question Id : 70819120171 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
y=%¢4 5x3 +18x2 — 19x I&CHH FAF eferet 4= Ragor 2'9

Options :

70819165669. (0. 0)

g
70819165670, (& 2)

3 —

¥

. i
2

70819165671. d

70819165672, (2 9)

Question Number : 69 Question Id : 70819120172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of _|= i J;
1 +3

iy )

dxy 1s:

Options:



e

70819165673.

70819165674, 2T

o

70819165675, =

70819165676, =™

Question Number : 69 Question Id : 70819120172 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

w9
| €08 T 4y T AW DT :
- 2 o

Options :

S

70819165673.

70819165674, 2T

L
70819165675, =

70819165676, ™

Question Number : 70 Question Id : 70819120173 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The number of seven digit integers with sum of the digits equal to 10 and formed by using
the digits 1, 2 and 3 only is :

Options :

70819165677. +2

70819165678. *

=]
=l

70819165679.

i &
-2

70819165680.

Question Number : 70 Question Id : 70819120173 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

(TG 1, 2 F 3 SRFIL5] AT I A ALH(FIGT @HF 10 T T ETEINLT 515 FRT o
S SeF TG FYTAEE 72 27 ;

Options :

70819165677, 42

70819165678, 2

b |
e |

70819165679.

oo
12

70819165680.

Question Number : 71 Question Id : 70819120174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1
The maximum value of the term mdependont of 't in the expansion of [U;J |

\ /
where xe (0, 1) is :

Options :
10!

2
70819165681, V3(5)

2.10!

XA
70819165682, V33!

70819165683, ~©)°

i 2
70819165684, °')

Question Number : 71 Question Id : 70819120174 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1

10
_L 1 r 10 - =y | )
tx5 4 ( tlj l T 9PTES (TS x< (0, 1)), t T TC TOFARE (F AF A SPT 27
N s
Options :

10!

2
70819165681, V3(5)

2.10!

X LA
70819165682, V33!

- 2.10!

B

70819165683, ')



10!

2

70819165684, °')

Question Number : 72 Question Id : 70819120175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let R={(P, Q) | P and Q are at the same distance from the origin} be a relation, then the
equivalence class of (1, —1) is the set:

Options:
S={(x, 2+y2=4
70819165685, © (% ¥) [T HyT=4

e a ]
70819165686, > (& ¥) [ a7 +y°

e = o
70819165687, > (& ¥) [ X7 +y°

70819165688, > = (& ¥) [ ¥ +y7=2]

Question Number : 72 Question Id : 70819120175 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

4917’7 R={(P, Q) | P 1% Q A * TRTS &S} a5 7| (90T (1, —1) T 77gem s
e AT 2T

Options :

i I A
70819165685, -\ ¥) [T HyT=4]

) L S
70819165686, ° (& ¥) | A=+ Y

70819165687, > L% ¥)



70819165688, > (0 V) | ¥ +17=42])

Question Number : 73 Question Id : 70819120176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let A be a symmetric matrix of order 2 with integer entries. If the sum of the diagonal
elements of A2 is 1, then the possible number of such matrices is :

Options :

70819165689, |

70819165690, 4

70819165691, °

70819165692, 12

Question Number : 73 Question Id : 70819120176 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A TH A GBI 2 Teq AN (NAF TA (A 528 7o | A% A2 f{aef (Macaad [@swe 129,
08 (S0 (T @ad T MM 29

Options :
70819165689, 1
70819165690, 4

70819165691.

70819165692, ~~



Question Number : 74 Question Id : 70819120177 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let f be any function defined on R and let it satisfy the condition :

f-fy)| = |[&@-y)*, ¥ (v y) e R
If f(0) = 1, then :

Options :
70819165693, /(1) > 0. ¥ x= R

20819165694, /(¥ <0, 7x = R

70819165695, /() =0, vx <= R

70819165696, / (¥) can take any value in R

Question Number : 74 Question Id : 70819120177 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

43127 R T $*AC AT [ AR &b T o 2 | fix) — fly) | < | (x— )2, 7 (x, y) € REEGR

frm @31 3 f(0) = 1, 798 :

Options:

70819165693, /(1) >0, 7 x<s R

70819165694, /(1) <0 7xe R

70819165695, /() =0, 7xe R

20819165696, /() & R RITITC 14 #°7 A



Question Number : 75 Question Id : 70819120178 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A fair coin is tossed a fixed number of times. If the probability of getting 7 heads is equal to
probability of getting 9 heads, then the probability of getting 2 heads is :

Options :
15
28
70819165697. =

70819165698, 2~

70819165699.

15
14
70819165700, 2

Question Number : 75 Question Id : 70819120178 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

G5! 774 & @b WEATAA 5F (toss) T TAI M 751 I& (AN AGTTOLG! 951 I8 (AR TGO
T T, (S0% 267 % (9 FYEe 27 ;

Options :

bt
70819165697, 2

[

1
70819165698, 2



15

413
70819165699. -

15
14
70819165700. 2

Question Number : 76 Question Id : 70819120179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| -1 -1

o sin X cos X tan 1 .

If = = y 0 <x <1, then the value of CDS| is :
a b c \a+b)

= 1

iI'C

Options :

-

70819165701, 1 ¥~

-

ly‘
70819165702. VY

70819165703.

2y
70819165704.

Question Number : 76 Question Id : 70819120179 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. =1 -1 =1 ' /

. SINn X cos X tan 1
T = — J'r;[]{l--::lrm@cns|
a b C \ a -

me

A
b -
b}|:q'=m§,a.

Options :

"

70819165701, 1 ¥~



-

1—- vy
70819165702. VY

70819165703.

2y
70819165704.

Question Number : 77 Question Id : 70819120180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: . b et . : . 20
In an increasing geometric series, the sum of the second and the sixth term is — and the

product of the third and fifth term is 25. Then, the sum of 4th gt and 8th terms is equal to :

Options :

I-2
o

70819165705.

23

70819165706, 30

70819165707. -

a2

70819165708, 2

Question Number : 77 Question Id : 70819120180 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e 25 2
a5 3e GTTER AT ST T T A R — I GO I AT W QR 257 | (T,

4 SN, 6-T, TF 8- *f7 (P @ 27 ;
Options :

70819165705. 26

70819165706, >0
70819165707.

70819165708, 2

Question Number : 78 Question Id : 70819120181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

33 f}r—'ln

2 7 12 17 22 )
e st e e SO is equal to :

The sum of the infinite series 1 % I

Options :
@
70819165709, 4

¥
70819165710, 4

13

70819165711. 4

15
70819165712, 4

Question Number : 78 Question Id : 70819120181 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

' ) 7 ) 7 77
T L P SR CATe™ e 27
Options :

k.
70819165709, 4

n

70819165710, 4

13

70819165711. 4

15
70819165712, 4

Question Number : 79 Question Id : 70819120182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Consider the three planes

P; : 3x+15y+21z=9,
P, :x—3y—z=5, and

Py : 2x+10y +14z=
Then, which one of the following is true ?
Options :

70819165713, [1and Py are parallel

70819165714, F1 and Py are parallel

70819165715, L 12 P2 and P; all are parallel.

20819165716, L2 and P’5 are parallel.



Question Number : 79 Question Id : 70819120182 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
qq T4,
P'l : 3x+15y+21z=9,
Py :x—3y—z=5 9
P; : 2x+ 10y +14z=>5
fefere= 77area |
TS0, T (PTG 7 7

Options :

P, =< P, A4r=4r= |
70819165713, ! 2

EE EPIFEIE
70819165714, 1 ¢ L3 '

P,, P, W P, SIGI2CH 22 4w |
70819165715. 5 :

P, O P, FaEa |
70819165716. = 3

Question Number : 80 Question Id : 70819120183 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

100 n

The value of . | e* Pl dy where [ x] is the greatest integer < x, is :
n=1 n_1

Options :

70819165717, 100(1—¢)

70819165718, 100(1 +e)

70819165719, 100e



70819165720, 100(e —1)

Question Number : 80 Question Id : 70819120183 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

100 n :
Y [ e Max, (7w [x] o qereme ofed we e < x) T D
n=1 n-1

Options :

70819165717, 100(1—¢)

70819165718, 100(1+e)

70819165719, 100e

70819165720, 100(e —1)

Mathematics Section B

Section Id : 708191885
Section Number : 6

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Mark As Answered Required? : Yes

Sub-Section Number : 1



Sub-Section Id : 7081911165

Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819120184 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The difference between degree and order of a differential equation that represents the famﬂ}-'

. . 2 o ai]
of curves givenby y~ =a x + —
L 2

,a>0is__ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819120184 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i |
y1:41|2;,apnmﬁWﬁﬁmﬁﬁyﬁ?ammﬂ%ﬁqﬁﬁwrwm@wﬂﬁmﬁﬁ

/

|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120185 Question Type : SA



Correct Marks : 4 Wrong Marks : 0

The sum of 162" power of the roots of the equation x*~2x2+2x-1=0 is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819120185 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
23— 20242y~ 1=0 FAIFINEHE A 162-9F Teq Joq9q A% 29
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 83 Question Id : 70819120186 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The area bounded by the lines y=||x—1|—-2]is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 83 Question Id : 70819120186 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
y=| x—1|-2| @4TTIT T TqF CHALRE FEA 2T _
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120187 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

dy siny

i . . " = 111 ]
If y=y(x) is the solution of the equation Omn*fcosya e Y cosx = cosx, y(0)=0; then

I (7} 3 (w) 1 ()
1 y|ng | ?y|;}‘ | \—Eylzj is equal to ___
Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819120187 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



e di iy
% e””ﬁ-'rcosyi Fe™ cosx = cosx, y(0)=0; SEFA FNFINGE y=y(x) T 2T, (O0F
' ¢ R /
T &3 fwl oy 1§ .
1ty —|+—y|- |+ —=y|—| T ZT
e " 293 7y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819120188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

The number of solutions of the equation logy(x—1)=log,(x—3)is .
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819120188 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

log,(x—1) =log,(x — 3) ANSIIHE Fqq=E 7MW 2 |
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 86 Question Id : 70819120189 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of integral values of 'k’ for which the equation 3sinx + 4cosy =k + 1 hasa solution,
ke Ris

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819120189 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
3sinx+4cost=k+1,k ¢ R FTFCHA &B1 T4 A0 'K T WG TR RN LTI
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819120190 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Let (A, 2, 1) be a point on the plane which passes through the point (4, —2, 2). If the plane is
perpendicular to the line joining the points (-2, —21, 29) and (-1, —16, 23), then

AR A
| T 4 isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819120190 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

(@ TA, (4, -2, 2) RWHTE 99 (7 @@ T ¢oqE (), Lﬂ%‘?ﬂﬂ % TG
A2 4
(-2, -21,29)9F (-1, - Wﬂ“ﬂ%mﬁﬁ_ﬁ AUACH Ill %
J
TWHZTT |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120191 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
™

The value of the integral _[ sin2x |dx is
0

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819120191 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819120192 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

[f dﬁ{mszx] = (V3 = 1)cosx + 1, the number of solutions of the given equation when

0, —
7

1 R

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



5 to 5.001

Question Number : 89 Question Id : 70819120192 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

% VB(cos?x) = (V3 — 1)cosx + 1 @1 74 77, =@ x < |0, ;‘ (DANE 478 TRFANHA

TR AN Zd |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 90 Question Id : 70819120193 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

lh-{[] ) m
| =n-2", then

(30 (-
g
(29

28

N

+ 1

n+m is equal to __

( ‘n)
‘\ Here ‘1\

Y
=an‘
I 4

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 90 Question Id : 70819120193 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
(@ 5'd m,ne NIF 92 M 82 (god) (2, n)=1

(30)
)

+ 2
3
28

(30
| '1| ”19| =n-2" o, CWa+m W I
s,

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



